
Pre-Algebra Set 10 Answers 2019 Corrected 3.0 (Thank you Sky and Sam ) 

 

1. a)   b)   c)   d) 

 

 

 

 

2. a) −18 b) −18  c) 32         d) −8     e) 120 

 

3. a) Area = 15 sq. units b) Area = 27 sq. units  c) Area = 13.8 sq. units 

Perimeter = 16 units  Perimeter = 24 units  Perimeter = 15.2 units 

 

4. a) 
7

35
  or  

1

5
  b) 
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  or  

4

7
     c) 

25

35
   or  

5

7
 

 

5. a) 
13

6
  b) 5  c) 

1

2
  d) 

8

21
  e) 

9

97
  f) Show me  

 

6. a) 165 mm2  b) 130 cm2      c) 54 cm2 

 

6. a)     b)     c)  

 

 

   d)    e)    f)  

 

 

 

7. a) 138
5

12
 b) 117
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 c) 

8
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3

7
   e) 1

3

8
 

 

8. 20,617 feet 

 

9. 21….Show me why….. 

 

10. a) 13.84     b) 36.86 c) 35.02 

 

11. Attach your graph…ON GRAPH PAPER 

 

12. a) Y axis is not a consistent scale.       b) 0 should be down in corner where x and y axis meet. 

 

 


